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There are nine questions in this exam. The weights for each question are indicated at the end of each

question. Please do all of them. All questions must be answered in English or Chinese. For each question,

please limit your answer in 500 words.

. How does a CPU (Central Processing Unit) operate? (10%)

. How does a cache operate? (10%)

. Please compare TCP (Transmission Control Protocol) with UDP (User Datagram Protocol). (10%)
. Please compare the client-server network model with the peer-to-peer network model? (10%)

. What is software engineering? (10%)

. What is a relational database? (10%)

. What are the three main design _prineiples of object-oriented programming? (10%)

. We define the factorial/function f(n) as‘f(n)%z\x f(n-1) and f(0)=1for a positiyciinteger n. Please implement

the factorial functign in C. First writ€ a recursive version and then write a nonsrecursive version. (15%)

. Please rewrite the following € codc'so that the main funetion can'use the swap function to swap values of

a and b. (15%)

vaid swap(int a, int'b)

{
inttemp;
emps=-b,
b=a;
a=temp,
j
int main()
{
inta=10;
int b=20;
swap(a, b);
}
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